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Tuples

® Create “struct” by putting expressions in parentheses sepa-
rated by commas:

e (3, 5.0): int * float

e (3, "abc", true): int * string * bool
® Exercise — fill in types:

® (’ﬂ’, :br) . r:(l\ﬂl..d. o ;;.,t\a..f‘l..-

e (’a’, ”a”, ’a’) : ¢ han o $"lfV"3 ¥ chan

2

e (5, ’(”ﬂ”, ’a’)) : LA:\T +* (g"‘w;?, 42 CLM)

® Exercise — create a value of the given type:

& (gi (Lj; 5 O)/ Ha ”) : int * (int * float) * string
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Tuples (cont.)

® Use functions fst and snd to get elements of a pair. Only

works for pairs. (We’ll see how to deal with bigger tuples in
next class.)

® Exercise: Write a function to add the elements of an int * int
pair:

® let addelts p = f)(ff F + glﬂ—o F

C5421 —Class 1, 1/17/12 — 22



Lists (cont.)
® Exercise — fill in types (or flag error):
e [’a’; ’b’]: char Lt
® [?a?; ?b?; "e"]:t E¥Yvrac
o (43 ine_ of stritg "84an] ¢« Wl Lt
o [[4]; [5]; (11: wmb Wl Lt
o [(1, 2); (3, ©1: (wl =« ;"3‘—3 LT

® [(1, 2); (3, 4, B)]: Eyrvyov

. [(1, (31); (a, [5; 61)]: (wit +(wT lt)) Lot
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Lists (cont.)

® Exercise — create a value of the given type (other than the
empty list):

e (37) . int list

e [(1L37] . (int list) list

e [ (3, ab ¢") | : (int * string) list

e (("abe'"] ] : (stringlist) list

*[(3 (e 1) |+ Gint * string list) list

-f[ (5 (" &l ])]_& ((int * string list) list) list
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Lists (cont.)

® Exercise: Write a function to compute the sum of the first
two elements of an int list: addfirsttwo [5; 3; 2; 6] = 8.
You can assume the list is of length at least 2:

® let addfirsttwo lis = [MJ (;,, + L\ao (‘f’e L"")

® Exercise: Write a function to compute the sum of
the lengths of the first two elements of an (int list)
list: addfirsttwolengths [[5; 3]; [2]; [6; 2; 5; 3]] =
3. You can assume the list is of length at least 2:

® let addfirsttwolengths lis =

/QMJJ(L (2 ) + Lot (wd (H )
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Polymorphic functions (cont.)

Ex: Write the polymorphic types of the following functions. (You can write either
’a, ’b, etc. or a, /3, as you prefer.)

let mktriple p = (fst p, snd p, 3) ol %0 =2 of * o = hb—--\_
let pair_of_first p = (fst p, fst p) (¥ -p.F; = o T

let double_first lis = [hd 1lis; hd lisl ,/ t,:,&’(" “® = led™
let pair2list p = [fst p, snd p] ol ¢+ X ~—» ' \P.Aj

-

addfirsttwolengths (defined above) ( o ' kit 9wk

C5 421 —Class 1, 1/17/12 — 30



